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29.

T'’he dum of ¥ and a number x

30.

Ten less than a number x

X—=ID ( N‘X@Z X )

31. The quotient of x and 3  T—
he quotient of x and 5_ - X35 X/
32. 8 times gome number x g’ . X
Verbal Sentence Algebraic Equation
33. Three 1s less than or equal to four

minus a number X.
—

3ZY—x

34.

The sum of three and x 1s ten.

35.

Four 1s greater than six times a
e, — —
number t.

4> 6t




36. Use mental math to solve: 2=6-x. Show the question and solve.
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37. You want two rectangular gardens to have the same area. L{
The first 18 5 meters by 16 meters. -——
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41. y=12-3x
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P= 2 +204+ 25120
S

—
3. Find the perineter if x=4 feet. Show All Work.

P = Sx+Ix+5x+ D x
X=05" &Lf)( X= C/

=4(y)
<94ft
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